
SSC TEST SERIES-4  
 

[Part-A. General Intelligence] 
Hkkx&d% lkekU; cqf)eRrk ,ao rdZ”kfDr 

1.  Introducing a man, a woman said “ His mother is the only daughter of my father”. How is the man related to the woman ?  
 ,d iq:’k dk ifjp; djrs gq, ,d efgyk us dgk] bldh ekrk esjs firk dh bdykSrh iq=h gSA iq:’k efgyk ls fdl izdkj lEcfU/kr gS  

 (a) son/iq=  (b) Father/ firk  

 (c) Brother /HkkbZ (d) Uncle /pkpk 

Directions/ funsZ”k % In question nos / iz”u l[;k 2 to 7 , select the related word/ letters / number from the given alternatives. 

 fn, x, fodYiks eas ls lEcfU/kr “kCn@ v{kjksa@ la[;k dks pqfu,A 

2. BLOCKED : YOLXPVW : : ? : OZFMMXS 
 (A) LABOURS (B) LAUNNCH (C) DEBATES (D) RESULTS 
3. 12 : 72 : : 8 : ? 
 (A) 36 (B) 32          (C) 38  (D) 40 
4. FIG : EGHJFH : : BIN : ? 
 (A) ACJHMO (B) CAHJMOC 
 (C) CAJHOM (D) ACHJMO 
5. 6 : 42 : : 7 : ? 
 (A) 48              (B) 40 (C) 56 (D) 52 
6. Garbage : House : : Gangue: ? 
 dpjk % ?kj % % vk?kk=h % \ 

 (a) Factory/ dkj[kkuk (b) Drugs/ vkS’k/k 
 (c) Office/ dk;kZy; (d) Ore/vk;Ld 

7. D B U : E E Z : : C J H : ? 
 (A) D M N (B) D N M  
 (C) D N N (D) D M M 

8. (A) Lawyer /odhy (b) Legislator/fo/kk;d 

 (C) Mayor/ es;j (d) Governor/ jkT;iky 

9. (A) Acute/ U;wu (b) Parallel/ lekUrj 

 (C) Right/ le (d) Obtuse/ vf/kd 

10. (A) 50            (b) 120 (C) 37 (d) 145 
11. (A) B S           (B) E V (C) D X (D) I Z 
12. (A) OKHA       (B) PERU (C) ERKU (D) ANDI 
13. (A) 200          (B) 191  (C) 808 (D) 1331 
14. Find out the number of circles in the figure. 
 bl vkd`fr esa oR̀rksa dh la[;k Kkr dhft;sA 

 

 (a) 18 (b) 20 
 (c) 16 (d) 19 

Directions/ funs”k% In question nos/ iz”u la[;k 15 to 17, which one set of letters/ numbers/ when sequentially placed at the gaps in the given letter 

series shall complete it? 
v{kjks@ la[;kvksa dk dkSu&lk lewg [kkyh LFkkuksa ij Øeokj j[kus ls nh x;h v{kj Ja[kyk dks iwjk djsxk\ 

15. SH _ ELAS _ EELA _ HEELA SHEE _ A 
 (A) HHSS (B) EEHS (C) ELHA (D) EHSL 
16. 12‟_31 _4123_ 234 
 (A) 3212 (B) 2134  (C) 3241 (D) 1432 
17. _aba_ _ ba _ ab 
 (a) abbbb (b) baaba  (c) bbaba (d) abbab 
18. From the given answer figures, select the one in which the question figure is hidden/ embedded. 

 nh x;h mRrj vkdf̀r;ksa esa ls ml mRrj vkd`fr  dks pqfu, ftlesa iz”u vkdf̀r fufgr gSA 



  

 
(a)              (b)           ©              (d) 

 

19. A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are 
represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of 
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column , e.g. „A‟ can be 
represented by 01, 14 etc. and „M‟ can be represented by 56,68 etc. Similarly, you have to identify the set for the word „EAGLE‟. 

 ,d “kCn dsoy ,d la[;k &lewg n~okjk n”kkZ;k x;k gS] tSlk dh fodYiksa eas ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, la[;k &lewg v{kjksa ds nks oxksZ 

n~okjk n”kkZ, x, gS] tSlk fd uhps fn, x, nks vkO;wgksa esa gSA vkO;wg I ds LrEHk vkSj iafDr dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg II dh 5 ls 9] bu vkO;wgks ls 

,d v{kj dks igys ml dh iafDr vkSj ckn esa LrEHk la[;k }kjk n”kkZ;k tk ldrk gSA mnkgj.k ds fy, „A‟ dks 01]14 vkfn }kjk n”kkZ;k tk ldrk gSA rFkk „M‟ 

dks 56] 68 vkfn }kjk n”kkZ;k tk ldrk gSA blh rjg ls vkidks iz”u esa fn, “kCn „EAGLE‟ ds fy, lewg dh igpkuuk gSA 

MATRIX-I 
 0 1 2 3 4 

0 P A G R Z 

1 G R Z P A 

2 Z P A G R 

3 A G R Z P 

4 R Z P A G 

MATRIX-II 
 5 6 7 8 9 

5 E M L N O 

6 L E O M N 

7 O N E L M 

8 N O M E L 

9 M L N O E 

 (A)88, 22, 31, 89, 76 (B) 66, 43, 44, 79, 88 
 (C) 99, 01, 44, 96 ,77 (D) 55, 14, 11, 78, 66 
20. In a certain code, FRACTION is written as FNAITCOR, How is QUANTITATIVE written in that code? 
 fdlh dksM esa FRACTION dks „FNAITCOR' ds :Ik esa fy[k tkrk gS rks mlh dksM esa QUANTIATIVE dks dSls fy[kk tk;sxk\ 

 (A)QTNAVIAITETU (B) QIATAETUINVI 
 (C)QTEATUIAVITN (D) QEAITATITNVU 
21. If  a mirror is palced on the line MN, then which of the answer figures is the right image of the given figure? 
 ;fn ,d niZ.k dks MN js[kk ij jpkk tk;s rks nh x;h mRrj vkd`fr;ksa esa ls dkSu&lh vkd`fr iz”u vkd`fr dh lgh izfrfcEc gksxh\ 

  

 
(a)                      (b)                       ©                       (d)

 

22. Find the number that is common for all of the clue‟s given below: 



 uhps fn, x, lHkh ladsrks ds fy, lkekU; la[;k crkb,A 

 (a) Virgo/ dU;k (b) Volleyball/ okWyh cky 

 (c) A higest scoring shot of a particular sport/ fo”ks’k [ksy dk lokZf/kd vad izkIr djus okyk “kkWVA 

 (d) Extra sensory perceptions/ bafUnz;srj vuqHkwfr 

 (A) 8          (B) 4 (C) 2            (D) 6 
Directions : Study  the diagram given below and answer question. 

 funsZ”k% Mk;xzke dk v/;;u dhft;s vkSj iz”u dk mRrj nhft;sA 

23. The Qualified and experienced doctors working in villages are represented by :- 
 Xkkaoks esa dk;Zjr vfgrZ ,oa vuqHkoh MkDVjksa dk izfrfuf/kRo fdruk gS\ 

1

6 5

2

4

3

vfgZr MkDVj

vuqHkoh MkWDVj

xk¡oksa esa 

dk;Zjr MkDVj

Doctor Working 

in village

Experience Doctors

Qualified Doctors

 

 (A) 4 (B)5 
 (C) 2 (D) 6 
24. In a certain coding system APPLE stands for ETTPI. What is the code for „DELHI‟ ? 
 fdlh dksM O;oLFkk esa APPLE dk dksM ETTPI gSA „DELHI‟ dk dksM D;k gksxk\ 

 (a) COMND (B) ZAHDE (C) HIPLM (D) CQPLM 

Directions/ funsZ”k% In Question nos/ iz”u la[;k 25 to 29, select the missing number from the given responses. 

fn, x, fodYiksa esa ls yqIr vad Kkr dhft,A 

25. 

 

2 2

12 3

2 3

30 5

5 1

-5 -1

4 3

? -1

 
 (a) 12 (b) 7 
 (c) -12 (d) 9 
26. I  40   32   72  12 
 II 30   24   54   9 
 III 54   ?     90   15 
 (a) 49            (b) 36 (c) 46                (d) 48 
27.  

1

3

60

5

4 6

7

84 1 3

10

? 3

1
2

 
 (a) 16            (b) 12   (c) 90            (d) 48 
28. 

 

?

4 7

11

64343

 
 (a) 1332           (b) 1321 (c) 1231 (d) 1331 
29. 



   
 (a) 535  (b) 451 (c) 702 (d) 154 
30. Name a single letter, which can be deleted from the body of the following words to form entirely new words? 
 iwjh rjg ls u, “kCn cukus ds fy, fuEufyf[kr “kCnksa esa ls dkSu lk ,d v{kj gVk;k tk ldrk gS\ 

 HOST  POST COST LOST  STOP 
 (A) T (B) P        (C) S (D) O 

 Direction / funsZ”k: In Question nos/ iz”u la[;k 31 to 32, one or two statements is given followed by two conclusions/ assumptions, I and II. 

You have to consider the statement to be true, even if it seems to be at variance from commonly known facts. You are to decide which of the 
given conclusions/ assumptions can definitely be drawn from the given statement. 

 ,d ;k nks oDrO; fn;k x;k gS] ftlds vkxs nks fu’d’kZ@ekU;rk;s] I vkSj II fudkys x, gS vkidks fopkj djuk gS fd oDrO; lR; gS pkgs og lkekU;r % Kkr 

rF;ksa ls fHkUUk izrhr gksrk gksA vkidks fu.kZ; djuk gS dh fn, x, oDrO; eas ls dkSu&lk fuf”pr :Ik ls lgh fu’d’kZ@ ekU;rk fudyk tk ldrk gSA 

31.  Statement : No rod is pod. No pod is flexible. 
 oDrO; % dksbZ NM Qyh ugha gSA dksbZ Qyh yphyh ugha gSA 

 Inferences/ ekU;rk % 
 I- No rod is flexible/ dksbZ NM yphyh ugha gSA 
 II- Some pods are flexible/ dqN Qfy;kW yphyk gSA 

 (A) Both of them follows  nksuks ekU;rk fudyrh gS 

 (B) Only inference I follows. dsoy ekU;rk I fudyrh gSA 

 (C) Only inference II follows dsoy ekU;krk II fudyrh gS 

 (D) Neither of them follows nksuksa eas ls dksbZS ekU;rk ugha fudyrh gSA 

32. Statement/ oDrO; %  
 A good book even if costly is sold cut in no time. 
 ,d vPNh iqLrd egaxh gksus ij Hkh tYnh fcd tkrh gSA 

 Assumptions/ ekU;rk % 
 I : Some books are better than others/ dqN iqLrds vU;ksa ls csgrj gksrh gSA 

 II. All goods books are costly/ lHkh vPNh iqLrdsa eagxh gksrh gSA 
 (A) Only I follows dsoy ekU;rk I fudyrh gSA 
 (B) Both I and II follows. ekU;rk I vkSj II nksuksa fudyrh gSA 

 (C) Neither I nor II follows u ekU;rk I vkSj u gh II fudyrh gSA 
 (D) Only II follows. Dsoy ekU;rk II fudyrh gSA 

33. If CUSTOM is written as UCTSMO then how PARENT will be written in the same code ? 
 ;fn COSTOM dks UCTSMO fy[kk tkrk gS rks PARENT  dks dSls fy[kk tk,xk\  

 (a) TNERAP  (B) RAPTNE  (C) ERAPTN (D) APERTN 
34. In the question one part of the problem figure is subtracted. Select the option that shows the correct shape by the subtraction. 

 bl iz”u esa iz”u vkd`fr dk ,d Hkkx vyx fd;k x;k gSA ,slk fodYi pqfu, tks vyx djus ds ckn lgh :Ik n”kkZrk gks\ 

 

?
  

 
(a)                       (b)                      ©                           (d)

 

35. Two position of dice are shown below. When three is at the top what number will be at the bottom. 
 uhps ,d ikals dh nks fLFkfr;ka n”kkZbZ x;h gSA ;fn Åij rhu gks rks uhps dkSu&lh la[;k gksxh\ 

  

 (a) 5           (b) 1  (c) 4          (d) 2 



36. If „air is called „green‟, green is called „blue‟ is called „sky‟, „sky is called „yellow‟ , „yellow‟ is called „water‟ and „water is called „Pink‟ then what is the 
color of the sky? 

 ;fn *ok;q dks gjk dgk tk,* *gjs dks uhyk dgk tk,] *uhys dks *vkdk”k* dgk tk,] *vkdk”k* dks *ihyk dgk tk,] *ihys dks *ikuh* dgk tk, vkSj ikuh dks 

*xqykch dgk tk, rks lkQ vkdk”k dk jax D;k gksxkA 

 (a) Yellow/ ihyk (b) Water/ ikuh 

 (c) Sky/ vkdk”k (d) Blue/ uhyk 

37. A piece of paper is folded and cut as shown below in the question figures. From the given figures, indicate how it will appear when opened. 
 uhps iz”u vkd`fr;ksa esa fn[kk, vuqlk dkxt dks eksM dj dkVus rFkk [kksyus ds ckn og fdl mRrj vkdf̀r tSlk fn[kkbZ nsxk\ 

  

 
(A)             (B)           (C)            (d)

 

38. If the words are organized in reverse order of what they appear in dictionary, which word will come in the third place. 
 ;fn “kCnksa dh os ftl Øe ls “kCndks’k esa vkrs gS mlls mYVs Øe esa O;ofLFkr fd;k tk, rks rhljs LFkku ij dkSu lk “kCn vk,xk\ 

 (a)Occulist (b) Odium (c) Odious (d) Ordem 

Direction / funs”k % In Question nos/ iz”u la[;k 39 to 40, which answer figure will complete the pattern in the question figure? 

 dkSu lh mRrj vkdf̀r iz”u vkdf̀r ds izfr:Ik dks iwjk djsxh\ 

39  

  

 (A)                      (B)                     (C)                      (D)  
40.  

  

 (a)                       (b)                   (c)                       (d)  
 Directions/funsZ”k % In Question nos/ iz”u la[;k  41 to 42, identify the diagram that best represents the relationship among classes given 

below: 
 ,slk vkjs[k Kkr dhft;s tks fuEfyf[kr Jsf.k;ksa ds chp lokZf/kd laca/k dks n”kkZrk gS% 

41. Vegetables, Potatoes, Eatables 
 lfCt;ka] vkyw ] [kkn~; inkFkZA 

 
(a)               (b)              (c)                (d) 

 



42. Christians, Catholics, Pope 
 bZlkbZ] dSFkksfyd] iksi 

 
(a)               (b)              (c)                (d) 

 

43. Veena and Veeru both sart from a point towards North. Veena turns to left after walking 10 km. Veeru turns to right after walking the same 
distance, Veena waits for some time and then walks another 5 km. Whereas Veeru walks only 3 km. They both then return towards south and walk 
15 km.forward . How far is Veena from Veeru? 

 ohuk vkSj oh: nksuksa ,d LFkku ls mRrj fn”kk esa pyuk “kq: djrs gSA ohuk 10 fdeh pyus ds ckn ck,a eqM tkrh gSA oh: Hkh bruk gh pyus ds ckn nk;s eqM 

tkrk gSA ohuk dqN le; ds fy, :drh gSA vkSj fQj 5 fdeh vkSj pyrh gSA tcfd oh: dsoy 3 fdeh- pyrk gSA fQj os nksuksa nf{k.k fn”kk esa ykSVrs gS vkSj 

15 fdeh pyrs gSA ohuk oh: ls fdruh nwj gSA 

 (a) 12 km/ fdeh (b) 10 km/ fdeh 
 (c) 8 km/ fdeh (d) 15 km/ fdeh 

44. Find the missing number? 
 yqIr la[;k Kkr dhft,A 

 2] 5] 10] 17] 26] 2 

 (a) 36         (b) 49  (C) 37 (d) 47 
45. Which figure complete the blank figure.  

 
(a)       (b)           (c)             (d) 

 
46. Ravi is walking in the East direction. After covering distance of one kilometer, he turns 40 left and then 90 right. In which direction is he now? 

 jfo iwoZ fn”kk esa py jgk gSA ,d fdeh dh nwjh r; djus ds ckn og 45 ck,a eqMrk gSA vkSj fQj 90 nk;s eqM+rk gSA bl le; og fdl fn”kk esa gS\ 

 (a) North/ mRrj  (b) West/ if”pe 

 (c) North west/ mRrj if”pr (d) North east mRrj iwoZ 
47. Which of the following jumbled words is not an animal?  
 fuEufyf[kr vO;ofLFkr “kCnksa esa ls dkSu lk “kCn tkuoj ugha gSA 

 (a) LATHPEEN (B) TICRECK 
 (c) FEFEOC (D) TAR 
48. Arrange the following words as per order in the dictionary. 
 fuEufyf[kr “kCnksa dks “kCn dks”k esa fn, x, Øe ds vuqlkj fy[ks A 

 (a) Hate (b) Hake  (c) Halt (d) Hamlet   (e) Ham 
 (A) 1, 3, 5, 2, 4 (B) 2, 1, 3, 5, 4 
 (C) 2, 1, 4, 3, 5 (D) 2, 3, 5, 4, 1 
49. If „+‟ means „X‟, „-„ means „‟ , „×‟ means „-„ and „‟ means „+‟ , then what will be the value of 16 64 – 8 x 4+2? 

 ;fn *$* dk eku *×* gSA *-&* dk eku * gS *×* dk eku *&* gSA vkSj *  

 Dk eku *$* gSA rc 1664&8 ×4 $ 2 dk eku D;k gksxk\ 

 (a) 12            (b) 24 (c) 16              (d) 18 
50. From the given alternative words, select the word which cannot be formed using the letters of the given word. 
 fuEufyf[kr fodYiksa esa ls og “kCn pqfu, tks fn, x, “kCn ds v{kjks dk iz;ksx djs cuk;k ugha tk ldrk gSA 

 „BOOKBINDING‟ 
 (a)DONDING (B) DOING (c) DIGGING (D) DINING 

Part B: General Awareness 
Hkkx [k% lkekU; tkudkjh 

51. A computer executes programs in the sequence of: 
 dEI;wVj bl Øe esa iz;ksx dks fu’ikfnr djrk gS % 

 (a) Decode, Fetch, Execute/fMdksM] QSp] ,sXthD;wV 

 (b) Execute, Fetch, Decode/,sXthD;wV] QSp ] fMdksM 



 (C) Fetch, Decode, Execute/QSp] fMdksM] ,sXthD;wV 

 (d)Store , fetch, Execute/LVksj] QSp] ,sXthD;wV 

52. What is „Reformation? 
 lq/kkjkUnksyu* D;k gS\ 

 (a) Revival of classical learning/ foospukRed tku dk iqu% izorZUk 
 (b) The Revolt against authority of pope/ iksi ds izHkqRo ds f[kykQ fonzksg 

 (c)  Rise of absolute Monarchy/ ije jktlh dk mn; 
 (d)  Change in attitude of man/ eUkq’; ds vkpkj O;ogkj esa ifjorZu  

53. Which of the following particles has the dual nature of particular- wave? 
 fuEufyf[kr fdu d.kksa eas d.kh;&rjax dh n~foizd`fr ikbZ tkrh gS\ 

 (a) Neutron/ U;wVªkWu (b) Electron/ bysDVªkWUk 

  (c) Meson/ehtkWu     (d) Proton/ izksVkWUk 

54. SIDBI stands for: 
 ,l vkbZ Mh ch vkbZ bldk /kksrd gS % 

 (a) Small industries Developmental Banker Institute/ Leky baMLVªht MSoyiesaV cSadj bafLVV~;wV 
 (b) Small instudries Designed Bank of India/ Leky baMfLVª;y fMtkbaM cSad vkWQ bf.M;k 

 (c) Small Innovations Development Banker‟s institute /Leky bUuksos”ku MsoyieSaV cSdlZ bafLV~V;wV 
 (d) Small industries Development Bank of India/ Leky baMLVªht MsoyiesaV cSad vkWQ bf.M;k 

55. The metal ion present in vitamin B12 is: 
 fOkVkfeu B12 es dkSu lk /kkrq vk;u mifLFkr jgrk gSA 

 (a) Nickel/fudsy (b) Cobalt / dksckYV 

 (c) Iron/ vk;ju (d) Zinc/ ftad 

56. Swaraj is my Birth Right and I shall have it. This was advocated by: 
 Lojkt esjk tUe fl) vf/kdkj gS] vkSj es bls ik dj gh jgwxkA fdldk ukjk Fkk % 

 (a) Mahatma Gandhi/ egkRek xka/kh  
 (b) Lal Lajpat Rai / ykyk yktir jk; 
 (c) Sardar Patel/ Lkjnkj iVsy 

 (d) Lokmanya Tilak/ yksdekU; fryd  

57. Which of the following is called the Light house of the Mediterrancan? 
 fuEufyf[kr esa ls fdls Hkwe/; lkxj dk ykbZV gkml dgrs gSA 

 (a) Stromboli of sieily/ fllyh dk LVªkEcksyh 
 (b) Mount pelee of West Indies/ if”peh }hi lewg dk ekaMV ihyh 

 (C) Paracutin of Mexico/ eSfDldks dk isjkD;wfVu 
 (d) Vesuvius of Italy/ bVyh dk fol~fo;l 

58. Who of the following has given the term rhizosphere: 
 jkbtksLQS;j “kCn fuEufyf[k res ls fdlus x<+k Fkk% 

 (a) Alexoplous/,sysDlksiksyl (b) Garret/xSjsV 

 (c) None of the given options/ bues esa ls dksbZ ugha 

 (d) Hilner/ fgYVuj 

59. Which one among the following industries is the maximum consumer of water in India? 
 Hkkjro’kZ esa fuEufyf[kr fdl mn~;ksx esa ikuh dh [kir lcls vf/kd gksrh gS\ 

 (a) Textile/ diM+k mn~;ksx   
 (b)Engineering/ vfHk;kaf=dh 

 (c)Paper and pulp/ dkxat rFkk iYi 

 (d) Thermal power/ FkeZYk ikWoj 
60.  Fastest shorthand writer was lcls rst vk'kqfyfi ys[kd Fks& 

 (a) Dr. G. D. Bist/MkW- th-Mh- fc"V 

 (b) J.R.D. Tata/ts-vkj-Mh- VkVk 

 (c) J.M. Tagore/ts-,e- VSxksj 

 (d) Khudada Khan/[kqnknk [kku 

61. The first statute for the governance of India, under the direct rule of the British Government, was the 
 fczfV'k ljdkj ds izR;{k 'kklu ds v/hu Hkkjr ds 'kklu ds fy, igyk dkuwu D;k Fkk \ 

(A)  Government of India Act, 1858 

1858 dk Hkkjr ljdkj vf/fu;e 
(B)  Government of India Act, 1861 

1861 dk Hkkjr ljdkj vf/fu;e 
(C)  Government of India Act, 1892 

1892 dk Hkkjr ljdkj vf/fu;e 
(D)  Government of India Act, 1915 



1915 dk Hkkjr ljdkj vf/fu;e 
62. Human blood is a viscous fluid due to 
 ekuo jDr fdlds dkj.k ,d fpifpik nzo gksrk gS \ 

(A) Platelets in plasma/IykTek esa fca’kk.kq 
(B) Proteins in blood/jDr esa izksVhu 
(C) RBC and WBC in blood/jDr esa RBC vksj WBC 
(D) Sodium in serum/lhje esa lksfM;e 

63. Who was the first Indian Chief of Army Staff of the Indian Army ? 
 Hkkjrh; lusk esa lusk depZkjh ds igys Hkkjrh; izeq[k dkSu Fks \ 

(A) Gen. K.M. Cariappa/tujy ds-,e- dfj;Iik 
(B) Vice-Admiral R.D. Katari/okbl ,Mfejy vkj-Mh- dVkjh 

(C) Gen. Maharaja Rajendra Singhji/tujy egkjktk jktsUnz flagth 

(D) None of the above/mijksDr esa ls dksbZ ugha 

64.  Who invented Locomotive ? 
 Lopkfyr ;a= dk vkfo"dkj fdlus fd;k Fkk \ 

 (A) Benjamin Franklin of U.S.A. in 1752/ 

 1752 esa la;qDr jkT; vejhdk ds csatkfeu QzSadfyu 

 (B) Richard Trevithick of Britain in 1804/ 
 1804 esa fczVsu ds fjpMZ VsªohfFkd 

 (C) Horace Short of Britain in 1900/1900 esa fczVsu ds gksjsl 'kkWVZ 

 (D) John J. Loud of U.S.A. in 1888/1888 esa la;qDr jkT; vejhdk ds tkWu ts- ykmM 

65. Minamata disease was caused by 

 feukekVk uked fcekjh ds gksus dk D;k dkj.k Fkk \ 

 (A) Cadmium/dSMfe;e   (B) Lead/lhlk 

 (C) Methyl Isocynate/ehFkk;y vkblkslk;usV 

 (D) Mercury Poisoning/ikjk fo"kkDrrk 

66.  Vernal Equinox occurs on ? 

 olar fo"kqor dc gksrk gS \ 

(A) February 15/Qjojh 15  (B) February 21/Qjojh 21 

(C) March 15/ekpZ 15  (D) March 20/ekpZ 20 

67. Harry Brearley has invented 

gSjh czs;jyh us fdldk vkfo"dkj fd;k Fkk \ 

(A) Electric iron/fo|qr yksgk    (B) Electromagnet/fo|qr pqEcd 

(C) Stainless Steel/LVsuysl LVhy (D) Gramophone/xzkeksQksu 

68.  Scalar Quantities are 

 vfn'k ek=kk gksrh gS& 

(A) physical quantities which have magnitude only and no direction/,slh HkkSfrd ek=k ftuds ikl dsoy ifjek.k gks vkSj fn'kk u gksA 
(B) physical quantities which have only direction but not magnitude /,slh HkkSfrd ek=kk ftuds ikl ifjek.k u gks vkSj dsoy fn'kk gksA 
(C) physical quantities which have both magnitude and direction/,slh HkkSfrd ek=k ftuds ikl ifjek.k vkSj fn'kk nksuksa gksA 
(D) physical quantities which have neither magnitude nor direction/ek=k ftuds ikl ifjek.k vkSj fn'kk nksuksa u gksA 
69. Plants that grow in saline water are known as 

 [kkjs ikuh esa mxus okys ik/Sksa dks fdl uke ls tkuk tkrk gS \ 

 (a) hydrophytes/gkbMªksQkbV~l 

 (b) thallophytes/FkSyksQkbV~l 

 (c) halophytes/gSyksQkbV~l 

 (d) mesophytes/eslksQkbV~l 

70. Which of the following is in the ascending order of Data hierarchy? 
 fuEufyf[kr es dkSu& lk MkVk gk;jkjdh dk vkjksgh Øe gS\ 

 (a)  Bit-Byte- Record –Field-Database –File  
  fcV&ckbV&fjdkWMZ&QhYM&MkVkcsl&Qkby 

 (b)  Byte- Bit-File- Record- Database-Field 
  ckbV&fcV&QkbYk&fjdkWMZ&MkVkcsl&QhYM 

 (c)  Bit-Byte- Field- Record –File –Database 
  fcV&ckbV&QhYM& fjdkWMZ&QkbYk&MkVkcsl 

 (D)  Field-Byte-Bit-Record-File-Database 
  QhYM&ckbV&fcV&fjdkWMZ&QkbYk&MkVkcsl 

71. The best milch breed in the world is: 
 Lkalkj dh loksZRre n~f/k;k uLy gS% 

 (a) Deoni/ fMvkSukbZ  
 (B) Holstein- Friesian/gkWyVhu QzkbZft;u 



 (c) Sindhi/ fla/kh  
 (d) Chittagong /fpVxkSax 

72. In which year was the Indian National Congress formed: 
 Hkkjrh; jk’Vªh; dkaxzsl dk xBu bl o’kZ gqvk Fkk % 

 (a) 1901 (b) 1835 (c) 1875 (d) 1885 
73. Bangladesh was created in- 
 caxyk ns”k dh LFkkiuk bl o’kZ gqbZ & 

 (a) 1973 (b) 1970 (c) 1972 (d) 1971 
74. Raja Ram Mohan Roy was the founder of: 
 blds laLFkkid jktk jke eksgu jk; Fks % 

 (a) Brahmo Samaj/czgeks lekt 
 (b) Prathna Smaj/ izkFkuk lekt 

 (c) Ram Krishna Mission/ jked̀’.kk fe”ku 

 (d) Arya Samaj/ vk;Z lekt 

75.  Pulses are obtained from the family: 
 nkys ikndks ds bl dqy ls izkIr gksrh gSA 

 (a) Lilianceae/ fyy,slh  

 (b) Fungi/dod 

 (c)Cycadanceac/ lkbZdSMslh 

 (d) Leguminosae/ySX;wehukslh 

76. Who was the Indian women president of the United Naitons General Assembly? 
 la;qDr jk’Vª egk lHkk dh igyh efgyk Hkkjrh; v/;{k dkSu Fkh\ 

 (a) Margret Thatcher/ ekjxzsV FkSpj 
 (b) Golda Mayer/ xksYMk es;j 
 (c) Sarojini Naidu/ ljkstuh uk;Mw 

 (d) Vijaya Lakshmi Pandit/ fot;k y{eh if.Mr 

77. The one rupee note bears the signature of: 
 ,d :i;s ds uksV ij fdlds gLrk{kj gksrs gS\ 

 (a) Governor, Reserve Bank of India/fjtoZ cSad vkWQ bafM;k ds xouZj 

 (b) None of these/ buesa dksbZ ugha  
 (C) Finance Minister/ foRr ea=h 

 (d) Secretary, Minister of Finance/ foRr ea=ky; ds lfpo ds 

78. What is the currency of Saudi Arabia? 
 lÅnh vjSfc;k dh eqnzk D;k gS\ 

 (a) Riyal/ fj;ky (b) Pound/ ikmaM 

 (c) Lira/yhjk (d) Dinar/nhukj 

79. Reserve Bank of India was nationalized in: 
 fjtoZ cSad dk jk’Vªh;dj.k bl o’kZ gqvk% 

 (a) 1951 (b) 1947 (c) 1935 (d) 1949 
80. Which among the following is a folk dance of India. 
 fuEufyf[kr esa ls dkSu lk Hkkjrh; yksdu`R; gS\ 

 (a) Kathakali/dFkdyh (b) Mohiniattam/eksfgfu;kFke 

 (c) Manipuri/ef.kiqjh (d) Garba/xjck 

81. NABARD stands for 
 ,u-,-ch-,-vkj-Mh ¼ukckMZ½ bldk /kksrd gS& 

 (a)  National business for accounting and Reviewing/us”kuy fctusl QkWj ,dkmafVax ,a.M fjfofoax 

 (b)  National Bank for agriculture and rural development/ us”kuy cSad QkWj ,xzhdYpj ,.M :jy MsoyiesaV  

 (c)  National Bank for aeronautics and radar/us”kuy cSad QkWj ,sfjvksukWfVDl ,.M jsMkj MsoyiesaV  

 (d)  National bureau for air and road transport/ us”kuy C;wjks QkWj ,svj ,.M jksM VªkaliksVZ 

82. Surplus budget is recommended during: 
 blds nkSjku vkf/kD; ctV dh laLrqfr dh tkrh gSA 

 (a) Depression/eanh ds nkSjku 

 (b) Boom/rsth ds nkSjku 

 (c) War/;q) dky ds nkSjku 

 (d) Famines/ vkdky ds nkSjku 

83. Who was the first Speaker of the Lok- Sabha : 
 yksd lHkk ds izFke  v/;{k Fks % 

 (a) B.R. AMbedkar /ch-vkj-vEcsMdj 
 (b) G.V. Mavalankar/th-oh-ekoyadj 

 (c) N. Sanjeev Reddy/,u-lathok jsM~Mh 



 (d) Dr. S.P. Mukerjee/Mk- ,l-ih-eq[kthZ 

84. What is the plural  voting system? 
 ,dkf/kd erkf/kdkj ra= D;k gSA 

 (a) All the citizens caste three votes each/lHkh ukxfjd vyx&vyx rhu oksV nsrs gS 

 (b) Eligible voter exercises one vote and some voters with specific qualifications cast more than one vote/ifo= oksVj ,d oksV nsrk gS rFkk dqN 

fo”ks’k ;ksX;rk okys oksVj ,d ls vf/kd oksV nsrs gSA 

 (c) ONly the higher officials caste more than one votes/ dsoy mPPk vf/kdkjh gh ,d ls vf/kd oksV nsrs gSA 

 (d) Candidates themselves cast more than one vote/izR;k”kh yksx ,d ls vf/kd oksV nsrs gSA 

85. Which of the following plant shows chloroplast dimorphism? 
 fuEufyf[kr esa dkSu lk ikni DyksjksIykLV MkbekWWjfQTe iznf”kZr djrk gS\ 

 (a) Sugarance/xUuk (b) Sugar beet/pqdUnj 

 (c) Rice//kku (d) Wheat/xsgwa 

86. Day and Night are equal at the: 
 ;gkW ij fnu rFkk jkr ,d leku gksrs gS% 

 (a) Prime Meridian/izeq[k ;ksE;ksRrj (b) Poles//kqoz 

 (c) Equator/Hkwe/;js[kk  (d) Antarctic/vaVkdZfVdk 

87. Economic profit or normal profit is the same as: 
 vfFkZd ykHk vFkok lkekU; ykHk bl :Ik esa yxHkx ,d ls gSA 

 (a) Accounting profit/ys[kk “kkL= ykHk  

 (b) Optimum profit/vuqdwyre ykHk 

 (c) Net profit/”kq) ykkHk 

 (d) Maximum profit/ vf/kdre ykHk  

88. Evergreen type forests are found in: 
 lnkcgkj fdLe esa ou ;gk¡ ik,a tkrs gS% 

 (a) Mediterranean region/Hkwe/;lkxjh; {ks=  

 (b) Monsoon climatic area/ekulwu tyok;qoh; {ks= 

 (c) Desert region/e: {ks=  

 (d) Equatorial region/ Hkwe/;js[kh; {ks= 

89. The gene which exhibits multiple effects is known as: 
 thu tks cgq izHkkoksa dks iznf”kZr djrh gS og dgykrh gS% 

 (a) Pleiotropic/IyhvksVªksfir (b) Pseudogene/L;kSbksthu 

 (c) polygene/ikWyhthu (d) Complementary/dkWEiyhesaVjh 

90. The ash-grey soils of high- latitude coniferous forests are known as: 
 jk[k tSlh /kwlj eǹk ds mPp v{kkal ds phM+ ds ou bl uke ls Hkh tkus tkrs gS% 

 (a) Grey-Brown soils//kwlj Hkwjh eǹk 

 (b) Red and Yellow soils/yky rFkk ihr e`nk 

 (c) Tundra soils/ VqUMªk e`nk 
 (d) Podsols/ikSblkWYl 

91. Radio activity was discovered by: 
 jsfM;ks/kfeZrk dh [kkst buds }kjk gqbZ% 

 (a) Curie/D;wjh (b) Becqueral/chD;wjSy 

 (c) Soddy/lqM+h (d) Rutherford/jnjQksMZ 

92. Moddy water is treated with alum is purification process, it is termed as: 
 “kq)hdj.k dh izfØ;k esa xanys ikuh dk mipkj fQVdjh ls djrs gSA ;g izfØ;k D;k dgykrh gS\ 

 (a) Absorption/vo”kks’k.k  (b) Adsorption/vf/k”kks’k.k 

 (c) Coagulation/LdUnhdj.k       (d) Cmulsification/bEyfldj.k 

93. An enzyme produced by HIV that allows the integration of HIV DNA into the host cell‟s DNA is: 

 ,p vkbZ oh }kjk mRiUUk ,atkbe gS tks iks’kh dksf”kdkvks ds Mh-,u-, ds Hkhrj ,p-vkbZ-oh- ds Mh-,u-, dks la?kfVr djrk gSaA 

 (a) DNA gyrase/Mh-,u-,- xk;jst  (b) Ligase/fyxst 

 (c) Integrase/baVjxSt  (d) Helicase/gSfydst 

94. Voting is: 
 erkf/kdkj ,d izdkj ls% 

 (a)  The unit of area who constitute a unit for electing representive 
  oksV nsus okys izfrfuf/k ds fy, {ks= dh bdkbZ dh lajpuk djrk gS  

 (b)  The process by which voters exercise their right to vote 
  ;g ,d fof/k gS ftlesa oksVj viuk oksV nsus ds vf/kdkj dk iz;ksx djrk gSA 

 (c)  The process of selecting representatives 
  izfrfuf/k;ksa ds p;u dh ,d izfØ;k gSA 

 (d)  Universal adult franchise 
  loZO;kid izkS<+] fo”ks’kkf/kdkjA 



95. The two specific heats of gases are related by: 
 xSlksa ds nks fof”’V rki blds }kjk lEcaf/kr gS% 

 (a) Cp/Cv= R (b) Cp-Cv=RJ 
 (c) Cp-Cv=R/J (d) Cp+Cv=RJ 
96. Who initiated the movement to form the Indian Naitonal congress: 
 Hkkjrh; jk’Vªh; dkaxzsl ds xBu laca/kh vkUnksyu dks fdlus “kq:vkr dh % 

 (a) Annie Besant/,uh cslsaV 
 (b) A.O. Hume/,0vks g;we 

 (c) W.C. Banerjee/MCyw- lh- cuthZ 

 (d) Gandhi ji/xkWa/kh th 

97. Best way to conserve our water resources: 
 ty lalk/kuksa ds laj{k.kksa dk lcls vPNk rjhdk gS % 

 (a)  All of the options mentioned here 
  buesa ls lHkh 

 (b) Encouragement of natural regeneration of vegetation 
  izkdf̀rd oUkLifr dk iqu:Ztuu ls izksRlkfgr djuk 

 (c)  Sustainable water utilization 
  lrr ty mi;ksfxrk  

 (d) Rain water harvesting 
  o’kkZ ds ty dk lxzg.k 

98. Constitutional Monarchy means: 
 lafo/kkfud jktlh dk vFkZ % 

 (a) The king is elected by the people 
  turk }kjk jktk dk pquk tkuk 

 (b)  The king interprets the constitution  
  jktk }kjk lafo/kku dks ifjHkkf’kr djuk 

 (c)  The king writes the constitution 
  jktk }kjk lafo/kku dh jpuk djuk 

 (d)  The king exercises power as granted by constition  
  lafo/kku }kjk izkIr “kfDr ds vuqukj jkTkk ds }kjk “kfDr;ksa dk iz;ksx 

99. What is popular sovereignty? 
 yksdfiz; izHkqlRrk D;k gS\ 

 (a)  Sovereignty of the legal head/fof/k “kh’kZ dk izHkqRo 

 (b) Sovereignty of the head of state/jkT; ds “kh’kZ dk izHkqRo 

 (c)  Sovereignty of the people/turk dk izHkqRo 

 (d)  Sovereignty of people representive/turk ds izfrfuf/k dk izHkqqRo 

100.Granite, quartzite areas have upstanding look because 
 xzsukbV] DOkkVZtkbV {ks= [kM+k :Ik iznf”kZr djrs gS D;ksafd 

 (a) Not easily worn down/vklkuh ls fxjrh ugha gSA 
 (b) These rocks are resistant to all kinds of erosion/;g pV~Vkus gj izdkj ds vijnu ds izfr izfrjks/kh gS 

 (c) These rocks are not easily eroded/bu pV~Vuksa dk fodkl vklkuh ls ugha gqvkA 

 (d) Mechanically weathered faster/ ;akf=d :Ik ls rsth ls vi{kh.k gksrh gSA 

Quantitative Apptitude 
Hkkx x% ifj.kkRed vfHk:fp 

101.Let C1 and C2 be the inscribed and circumscribed circles of a triagle with sides 3 cm, 4 cm and 5 cm then area of C1 is area of C2  
 eku ys C1 vkSj C2 ,d f=Hkqt ds var%o`r vkSj ifjor̀ gSA ftudh Hkqtk,W 3 ls-eh ] 4 lseh vksj 5 lseh gS rks C1 dk {ks=Qy@ C2 dk {kS=Qy gksxk 

 (a)9/16            (b) 9/25 (c) 4/25         (d) 16/25 

102. If / ;fn x=
1

2 1
 

 Then (x+1) equals to (x+1) fdlds rqY; gS& 

 (a) 2         (b) 2 1  (c) 2 1  (d) 2   

Directions :funsZ”k% In question nos/ 103 to 105, the pie-chart given here shows expenditure incurred by a family on various items and their savings. 

Study the chart and answer the questions based on the pie-chart. 
bl ikbZ&pkVZ esa ,d ifjokj }kjk fofHkUUk inksa ij fd;k x;k [kpZ vkSj mudh cpr dks n”kkZ;k x;k gSA pkVZ dk v/;;u djs vkSj ikbZ&pkVZ ij vk/kkfjr iz”uksa dk 

mRrj nsA 
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103.If the monthly income is Rs.36000  then the yearly savings is: 
 ;fn ekfld vk; Rs 36000 gS rks okf’kZd cpr gS& 

 (a) Rs. 72000 (b) Rs. 60000 
 (c) Rs. 74000 (d) Rs. 70000  
104.If the expenditure on education is Rs. 1600 more than that of housing then the expenditure on food is: 
 ;fn f”k{kk ij [kpZ edku [kpZ ls :- 1600 vf/kd gS rks Hkkstu [kpZ gS& 

 (a) Rs. 6000 (b) Rs. 12000 (c) Rs. 7000 (d) Rs. 3333  
105. The ratio of expenditure on food to savings is: 
 Hkkstu [kpZ vkSj cpr dk vuqikr gS&  

 (a) 2 :1(b) 3:1 (c) 3:2 (d) 10: 9 
106.The average marks obtained by a student in 6 subject is 88. On subsequent verification it was found that the marks obtained by him in a subject 

was wrongly copied as 86 instead of 68. The correct average of the marks obtained by him is- 
 fdlh fo|kFkhZ dks 6 fo’k;ksa esa izkIr gq, vkSlr vad 88 gSA ckn esa lR;kiu djus ls ;g irk pyk fd ,d fo’k; esa mlds vad dks xyrh ls 68 ds LFkku ij 86 

fy[k fn;k x;k A mls izkIr vadks dk lgh vkSlr gS& 

 (a) 85            (b) 87 (c) 84  (d) 86  

Directions :funsZ”k % In question nos. 107 to 110, Given here a multiple bar diagram of the scores of four players in two innings. Study the diagram and 

answer the questions. 
;gkWa pkj f[kykfM;ksa dh nks ikfj;ksa ds Ldksj dk cgz ckj&xzkQ fn;k x;k gSA vkjs[k dk v/;;u djsa vkSj iz”uksa dk mRrj nsA 

R
u

n
s
 A

c
c
u

r
e
d

100

90

80

70

60

50

40

30

20

10

0
Mahendra 

Singh

Dhoni

Virat Kohli Cheteshwar
Pujara

Shikhar 
Dhawan

Ist Innings

2nd Innings

igyh ikjh 

nwljh ikjh 

egsUnz flag 

/kksuh

fojkV dksgyh
psrs”oj

iqtkjk

f”k[kj /kou

 
107.The average run of two innings of the player who scored highest in average is: 
 nks ifj;ksa esa mPPkre vkSlr Ldksj izkIr djus okys f[kykMh dk vkSlr ju gS& 

 (a) 75 (b) 85 (c) 80 (d) 70  
108.The average run in two innings of the player who has scored minimum at the second innings is: 
 nwljh ikjh esa lcls de Ldksj izkIr djus okys f[kykM+h ds nksuksa ifj;ksa ds vkSlr ju gS& 

 (a) 50            (b) 60 (c) 40             (d) 30 
109.The average score in second innings contributed by the four players is: 
 nwljh ikjh esa pkjksa f[kykfM+;ksa dk vkSlr Ldksj gS & 

 (a) 30          (b) 60 (c) 40  (d) 50  



110.The total scores in the first innings contributed by the four players is: 
 igyh ikjh esa pkjksa f[kykfM+;ksa }kjk feydj cuk;k x;k dqy Ldksj gS& 

 (a) 220 (b) 200 (c) 210 (d) 190  
111.If the volume of a sphere is numerically equal to its surface area then its diameter is: 
 ;fn ,d xksyd dk vk;ru la[;kRed a:Ik ls mlds i’̀Bh; {ks=Qy ds cjkcj gS rks mldk O;kl gS& 

 (a) 4 cm(b) 2 cm (c) 3 cm (d) 6 cm  
112.A train runs at an average speed of 75 km/hr , If the distance to be covered is 1050 kms. How long will the train take to cover it? 
 ,d jsyxkM+h 75 dh-eh- izfr ?kaVk dh vkSlr xfr ls pyrh gSA ;fn mls 1050 dh-eh dh nwjh r; djuh gSA rks bl nwjh dks fdrus le; esa r; djsxh\ 

 (a) 13 hrs (b) 12 hrs (c) 14 hrs (d) 15 hrs  

113.G is the centroid of  ABC. The medians AD and BE intersect at right angles. If the lengths of AD and BE are 9 cm and 12 cm respectively ; then 

the length of AB (in cm) is? 

 G  ABC dk dsUnzd gSA ek/;d AD vkSj BE ledks.kksa dk izfrPNsn djrk gSA ;fn AD vkSj BE dh yEckbZ Øe”k% 9 lseh vkSj 12 lseh gS rks AB dh yEckbZ ¼lseh 

esa½ fdruh gS\ 
 (a) 10             (b) 10.5 (c) 9.5 (d) 11  

114.The minimum value of 2
2 2sin 3cos  is 

  2
2 2sin 3cos   dk U;wure eku gS& 

 (a)1 (b) 3 (c) 2 (d) 4  
115.If the three angles of a triangle are: 
 ;fn ,d f=Hkqt ds rhu dks.k gS% 

 (x+15), 
6 2

6 and 30
5 2

x x   
    

   

 
then the triangle is/rks f=Hkqt gS& 

 (a)scalene/ fo’ke ckg  (b) Isoesceles/len~fockg 

 (c) Right angled/ledks.kh;  (d) Equilateral /leckgq 

116. In an office, 40% of the staff is female. 70% of the female staff and 50% of themale staff is married. The percentage of the unmarried staff in the 
office is :  

 fdlh dk;kZy; esa LVkQ dk 40- izfr”kr efgyk gSaA 70 izfr”kr efgyk LVkQ rFkk 50 izfr”kr iq:’k LVkQ fookfgr gSA dk;kZy; esa vfookfgr LVkQ dk izfr”kr 

D;k gS\  

 (a) 54             (b) 64 (c)60           (d) 42 

117.5 persons will live in a tent. If each person requires 16 m
2

of floor area and 100
2

 space for air then the height of the cone of smallest size to 

accommodate these persons would be? 

 5 O;fDr ,d VsUV esa jgsxsA ;fn izR;sd O;fDr dks 16
3m ds vUrjky dh vko”;drk gS rks mu O;fDr;ksa dks mlesa txg nsus ds fy, y?kqre vkdkj ds “kadq dh 

ÅapkbZ fdruh gksxh\ 

 (a) 18.75 m (b) 16 m  (c) 10.25 m (d) 20 m 

118.If the altitude of an equilateral triangle is 12 3  cm, then its area would be: 

 ;fn ,d leckgq f=Hkqt dk “kh’kZyEc 12 3 lseh gS rks mldk {ks=QYk fdruk gksxk\ 

 (a) 12 cm
2

(b) 72 cm
2

(c) 356 3 cm
2

(d) 144 3 cm
2

 

119.The difference between successive discounts of 40% followed by 30% and 45% followed by 20% on the marked price of an article is Rs. 12 . The 
marked price of the article is: 

 fdlh oLrq ds vafdr ewY; ij 40 izfr”kr mlds ckn 30 izfr”kr vkSj 45 izfr”kr] mlds ckn 20 izfr”kr dh mRrjksRrj NwV esa varj : 12 gSA ml oLrq dk 

vafdr ewY; gS& 

 (a) Rs. 400 (b) Rs. 200 
 (c) Rs. 800 (d) Rs. 600  

120.The area of the triangle formed by the graphs of the equations x= 0, 2x+3y = 6 and x+y =3 is lehdj.k xzkQksa ls cus f=Hkqt dk {ks=Qy gS& 

 (a) 3 sq. unit/ oxZ ;wfuV (b) 1
1

2
sq. unit/ oxZ ;wfuV 

 (c) 1 sq. unit/ oxZ ;wfuV (d) 4
1

2
 sq. unit/ oxZ ;wfuV 

121.Among the equations lehdj.k x+2y+9=0; 5x-4=0; 2y-13 =0; 2x-3y=0, the equation of the straight line passing through origin is- 

 es ls ewy fcanq ls xqtjus okyh _tq js[kk dk lehdj.k gS& 

 (a) 2x- 3y=0 (b) 5x-4=0 
 (c) x+2y+9=0 (d) 2y-13=0 

122.The HCF of x
8 4 31and x 2 2 1x x     is: 

 
8 1x  vkSj 4 32 2 1x x x   dk egRre lekioZrd gS& 

 (a) 
2x +1 (b) x+1  (c) 

2x -1 (d) x-1  

123.The least number which when divided by 6,9,12, 15, 18, leaves the same remainder 2 in each case is: 
 og y?kqre la[;k ftldks 6]9]12]15]18 ls foHkkftr djus ij izR;sd ekeys esa “ks’kQYk 2 jgrk gS % 

 (a) 178 (b) 182 (c) 176 (d) 180 

124.Internal bisectors of Q and  R of  PQR intersect at O. If ROQ= 96 then the value of RPQ is: 

  PQR ds Q vkSj R ds vkrafjd ~foHkktd O ij izfrPNsn djrs gSA ;fn ROQ= 96 gS rks RPQ dk eku gS& 



 (a) 12 (b) 6  (c) 36 (d) 24 
125.A certain sum will amount to Rs. 12, 100 in 2 years at 10% per annum of compound interest, interest being compounded annually. The sum is- 
 ,d jkf”k ftldk C;kt okf’kZd :Ik ls tksM+k tkrk gS 10 izfr”kr izfr o’kZ pØo`f) C;kt ij 2 o’kksZ esa :- 12]100 gks tk,xhA og jkf”k gS& 

 (a) Rs. 12000 (b) Rs. 6000 
 (c) Rs. 8000 (d) Rs. 10000 
126.A‟s 2 days work is equal to B‟s days work. If A can complete the work in 8 days then to complete the work B will take: 

 A dk 2 fnuksa dk dk;Z B ds 3 fnuksa ds dk;Z ds cjkcj gSA ;fn A ml dk;Z dks 8 fnuksa esa iwjk djrk gS rks B ml dk;Z dks fdrus fnuksa 

eas iwjk djsxk\ 

 (a) 14 days/fnu (b) 15 days/fnu 

 (c) 16 days/ fnu (d) 12 days/ fnu 

127.If the measure of three angles  of a triangle are in the ratio 2: 3: 5, then the triangle is: 
 ;fn fdlh f=Hkqt ds rhu dks.kksa dk eki 2 % 3 % 5 vuqikr esa gSA rks og f=Hkqt gS& 

 (a) equilateral/leckgq (b) Isocseles/lefn~ckgq 

 (c) Obtuse angled/vf/kdks.kh; (d) Right angled/ledks.kh;  

128.What must be added to each term of the ratio 2: 5 so that it may equal to 5: 6? 
 2 % 5 vuqikr ds izR;sd in esa D;k tksM+k tkuk pkfg, ftlls og 5 % 6 ds cjkcj gks tk,a\ 

 (a) 12          (b) 78 (c) 65  (d) 13 
129.If the sum and difference of two angles are 22/9 radian and 36 respectively, then the value of smaller angle in degree taking the value of II as 

22/7 is: 

 ;fn nks dks.kksa dk ;ksx vkSj varj Øe”k 22@9 jsfM;e vkSj 36 gS vkSj ;fn  dk eku 22@7 eku ys rks vis{kkd`r y?kq dk fMxzh esa eku gS& 

 (a) 60 (b) 48 (c) 52 (d) 56  

130.4 men and 6 women complete a work in 8 days, 2 men and 9 women also complete in 8 days. The number of days 18 women complete the work 
is: 

 ;fn 4 iq:’k vkSj 6 fL=;k¡ fdlh dk;Z dks 8 fnuksa esa iwjk djrs gS] 2 iq:’k vkSj 9 fL=;ksa Hkh mls 8 fnuksa esa iwjk djrs gSA rks 18 fL=;k¡ ml dk;Z dks fdrus fnuksa 

esa iwjk djsxh\ 

 (a) 4
2

3
days     (b) 5

2

3
 days (c) 4

1

3
days (d) 5

1

3
 days 

131.If ;fn x=

24

12

1x

x


=7 then the value of /rks fuEufyf[kr dk eku gS&

72

36

1x

x


 

 (a) 432 (b) 433 (c) 343 (d) 322 

132.If 5x+ 9y= 5 and 12x
3

+ 79y
3

= 120 then the value of the product of x and y is / rks x vkSj y ds xq.kuQy dk eku gS& 

 (a) 135         (b) 
1

135
 (c) 

1

9
 (d) 45 

133.If 4 men or 8 women can do a piece of work in 15 dyas, in how many days can 6 men and 12 women do the same piece of work ? 
 ;fn 4 iq:’k vFkok 8 fL=;ksa fdlh dk;Z dks 15 fnuksa esa dj ldrh gSA rks 6 iq:’k vkSj 12 fL=;kWa mlh dk;Z dks fdrus fnuksa eas dj ldrs gS\ 

 (a) 45 days/ fnu (b) 20 days / fnu 

 (c) 5 days/ fnu (d) 30 days/ fnu 

134.The value of 
2 0 2 0 2 0sin 22 sin 68 30Cot  is 

2 0 2 0 2 0sin 22 sin 68 cot 30  dk eku gSA 

 (a) 
3

4
          (b) 4 (c) 

5

4
 (d) 3 

135.Find a simple discount equivalent to a discount series of 10%, 20% and 25% 
 10 izfr”kr ] 20izfr”kr vkSj 25 izfr”kr NwV Ja[kyk ds rqY; lk/kkj.k NwV Kkr djs& 

 (a) 45%         (b) 55% (c) 52% (d) 46%  

136.If  be acute angle and tan(4 -50)= cot (50- ), then the value of  in degrees is: 

 ;fn  U;wu dks.k gS vkSj tan(4 -50)= cot (50- )] gS rks fMxzh esa  dk eku gS% 

 (a) 30            (b) 40 (c) 20            (d) 50 
137.Cost price of 100 books is equal to the selling price of 60 books. The gain or loss percentage will be: 
 100 iqLrdksa dk ykxr ewY; 60 iqLrdksa ds foØ; ewY; ds cjkcj gSA ykHk vFkok gkfu dh izfr”krrk  fdruh gksxh\ 

 (a) 
2

66
3

% (b) 66
1

4
% (c) 66% (d) 66

3

4
% 

138.If ;fn 5 sin  = 3, the numerical value ofl lehdj.k dk la[;kRed eku gS& 

   
sec tan

sec tan

 

   

 (a) 
1

3
        (b) 

1

2
 (c) 

1

4
 (d) 

1

5
  

139.If ¾ of a number is 7 more than 1/6 of the number, then 5/3 of the number is: 
 ;fn fdlh la[;k dk 3@4 ml la[;k ds 1@6 ls 7 vf/kd gS rks ml la[;k dk 5@3 gS& 

 (a) 15 (b) 18 (c) 12 (d) 20  



140.What is the arithmetic mean of first 20 odd natural numbers? 
 izFke 20 fo’ke izkdf̀rd la[;kvksa dk lekarj ek/; D;k gS\ 

 (a) 17          (b) 19 (c) 22            (d) 20  

141.A kite flying at the height of 75 m from the ground. The string makes an agnle   (where cot  = 8/15) with the level ground. Assuming that 

there is no slack in the string, the length of the string is equal to: 

 ,d iraHk Hkwfe ls 75 eh- dh ÅapkbZ ij mM+ jgh gSA mldh Mksjh Hkwfe ds Lrj ls  dk dks.k cuk jgh gS ¼blesa cot 
 = 8/15 gS½ eku ys fd Mksjh esa dksbZ 

<hy ugha gS rks Mksjh dh yEckbZ fdruh gSA 

 (a) 75 m (b) 85 m  (c) 40 m (d) 65 m 
142.If person travels from a point L towards east for 12 km and then travels 5 km towards north and reaches a point M, then shortest distance form L 

to M is 
 ;fn ,d O;fDr fcanq L ls iwoZ dh vkSj 12 dh-eh vkSj fQj mRrj dh vksj 5 fd-eh ;k=k djrk gS vkSj fcanq M ij igqaprk gS rks L ls M dh U;wure nwjh gS& 

 (a) 14             (b) 12 (c) 17                (d) 13 
143.In an examination, a student must get 36% marks to pass. A student who gets 190 marks failed by 35 marks. The total marks in that examination 

is: 

 fdlh ijh{kk esa mRrh.kZ gksus ds fy, ,d fo|kFkhZ dks 36 izfr”kr vad vo”; izkIr djus pkfg,A 190 vad izkIr djus okyk ,d fo|kFkhZ 35 vadks ls Qsy gks x;kA 

ml ijh{kk ds iw.kkZd gS& 

 (a) 500           (b) 625   (c) 810 (d) 450 
144.A train 180 mts long is running at a speed of 90 km/h. How long will it take to pass a post? 
 ,d 180 eh- yEch jsyxkM+h 90 dh- eh izfr ?kaVk dh xfr ls py jgh gSA ,d iksLV ls xqtjus esa og ftruk le; ysxh\ 

 (a) 8.2 secs (b) 7.8 secs  (c) 8 secs (d) 7.2 secs  
145.A article which is marked at Rs. 975 is sold for Rs. 897. The % discount is? 
 :0 975 vafdr ewY; okyh ,d oLrq dks :- 897 esa cspk tkrk gSA NwV % gSA 

 (a) 6% (b) 10%  (c) 12% (d) 8% 

146.If Sec  + tan  = p, (p  0) then sec   is equal to 

 ;fn  sec   + tan  = p, (p  0) gS rks sec  fdlds rqY; gS& 

 (a) 
1

p ,p 0
p

 
  

 
 (b) 

1 1
(p ),p 0
2 p

    

 (c) 
1

2(p ),p 0
p

    (d) 
1

(p ),p 0
p

    

147.If  p=99 then the value of rks fuEufyf[kr dk eku gS&  

 p(p
2

+3p +3) 

 (a) 999999 (b) 988899  (c) 989898 (d) 998889 

148.If x= 2 then the value of/  rks fuEufyf[kr dk eku gS& 3 2x 27x 243x 631     

 (a) 1233 (b) 1231  (c) 1321 (d) 1211  

149.IF D, E and F are the mid points of BC, CA and AB respectively of the  ABC then the ratio of area of the parallelogram DEFB and are of the 

trapezium CAFD is: 

 ;fn  ABC ds BC, CA vkSj AB ds Øe”k % e/; fcanq D,E vkSj F gS rks lekarj prqHkZqt DEFB ds {ks=QYk vkSj leyac CAFD ds {ks=Qy dk vuqikr D;k gS & 

 (a) 1:3 (b) 1:2 (c) 3:4 (d) 2:3  
150.IF A and B are in the ratio 4: 5 and the difference of their squares is 81, what is the value of A? 
 ;fn A vkSj B dk vuqikr 4 % 5 gS vkSj muds oxksZ dk vUrj  81 gS rks A dk eku fdruk gS\ 

 (a) 36 (b) 15       (c) 45 (d) 12 

Part D: 
English Comprehension 

Hkkx ?k % vaxzsth ifjKku 
Directions : IN questions nos 151 to 155, sentences given with blansk to be filled in an appropriate word(s). Four alternatives are suggested for each 
question. Choose the correct alternative out of the four and indicate it by blackening the appropriate circle in the Answer sheet. 
151.When the morning____ the murder was discovered. 
 (a) came (b)Happened 
 (c) Arrived (d) Occurred  
152.The smell of the Sea called____ memories of her  childhood. 
 (a)  on (b) Back 
 (c) up (d) For  
153.He has the full facts _____but is deliberately hiding them. 
 (a) under his sleeves (b) Upon his sleeves 
 (c) Up his sleeve (d) In his sleeves  
154.The apearence of the city_____ day by day. 
 (a) Could change (b) Changed 
 (c) Had changed (d) Is changing 
155.The police fired on the mob when they____ 
 (a) Turned noisy (b) Turned violent 
 (c) Became abusive  (d) Fizzled out 



 Directions: In question 156 to 158, out of the four alternatives, choose the one which best expresses the meaning of the given word and mark it 
in the answer sheet. 

156.BOARD 
 (A) Frame          (b) Lodging (c) Food (d) Furniture  
157.PERUSE 
 (A) Follow         (b) Argue (C) Reduce  (d) Read 
158.SPUME 
 (a) Foam           (b) Lava (C) Posion (D) Spit   
Direction : In question nos. 159 to 163, you have a passage with 5 questions following. Read the passages carefully and choose the bet answer to 
each question out of the four alternatives and mark it by blackening the appropariate circle in the answer sheet. 

Passage 
True, it is the function of the army to maintain law and order in abnormal times. But in normal times there is another force that compels citizens to obey 
laws and to act with due regard to the rights of others. The force also protects the lives and properties of law abiding men. Laws are made to secure 
the personal safety of its subjects and to prevent murder and crimes of violence. They are made to secure the property of the citizens against theft and 
damage and to protect the right of communities and castes to carry out their customs and ceremonies, so long as they do not conflict with the rights of 
others. Now the good citizens, of his own free will obeys these laws and he takes care the everything he does is done with due regard to the rights and 
well being of others. 
But the bad citizen is only restrained from breaking these laws by fear of the consequence of his actions. And the necessary steps to compel the bad 
citizen to act as a good citizen are taken by this force. The supreme control of law and order in a State is in the hands of a Minister, who is responsible 
to the State assembly and acts through the Inspector General of Police. 
159.The expression “customs and ceremonies” means: 
 (a) Habits and traditions (b) Fairs and festivals 
 (c) Superstitions and formalities 
 (d) Usual practices and religious rites 
160.They are made to secure the property of citizens against theft and damage” means that the law” 
 (a) Safeguards people‟s possessions against being stolen or lost 
 (b) Initiates process against offenders of law 
 (c) Helps in recovering the stolen property of the citizens 
 (d) Assists the citizens whose property has been stolen or destroyed 
161.Whcih one of the following statements is implied in the passage? 
 (a) The police hardly succeed in converting bad citizens into good ones. 
 (b) Criminals, who flout the law, are seldom brought to book 
 (c) Peaceful citizens seldom violate the law 
 (d) The police check the citizens, whether they are good or bad, from violating the law 
162.According to the writer, which one of the following is not the responsibility of the police? 
 (a)  To check violent activities of citizens 
 (b)  To maintain peace during extraordinary circumstances 
 (c)  To protect the privileges of all citizens 
 (d)  To ensure peace among citizesns by safeguarding individual rights 
163.Which of the following statements is not implied in the passage? 
 (a)  Law protects those who respect it  
 (b)  A criminal is deterred from committing crimes only for fear of the law 
 (c)  The forces of law help to transform irresponsible citizens into responsible ones 
 (d)  Law ensures people‟s religious and social rights absolutely and unconditionally. 
Direction : IN question nos 164 to 173, a sentence / a part of the sentence is underlined. Below are given alternatives to the underlined part which 
may improve the sentence. Choose the correct alternative. In case no improvement is needed choose “No improvement “ Mark your answer in the 
answer sheet. 
164.He does not laugh, nor he smiles. 
 (a) Nor he does smile (b) No improvement 
 (c) Neither he does smile (d) Nor does he, smile 
165.If I will get an opportunity, I shall attend the seminar. 
 (a) Get  (b) No improvement 
 (c) Shall get (d) Got 
166.The others shook their heads and made vague noises of approval. 
 (a) Nodded (b) No improvement 
 (c) Tunred around (d) Hung 
167.The world is being faced with a crisis 
 (a) No improvement (b) Facing 
 (c) Confronted (d) In front of 
168.She insisted on she was innocent. 
 (a) No improvement  (b) Insisted on that 
 (c) Insisted that (d) Insisted with 
169.She could not help but laugh. 
 (a) But laughing (b) No improvement 
 (c) Laughter (d) laughing 
170. I look my mother some grapes when she was in hospital. 
 (a) I took some grapes for my mother 
 (b) No improvement 
 (c) I took for my mother some grapes 
 (d) I brought my mother some grapes 
171.We met yesterday, haven‟t we? 



 (a) isn‟t it? (b) No improvement 
 (c) Didn‟t we? (d) hadn‟t we? 
172.Both the teams played the game fairly. 
 (a) played fairly the game (b) No improvement  
 (c) Fairly played  the game (d) Played a fair game 
173.You must endure what you cannot cure. 
 (a) Suffer (b) No improvement 
 (c) Prevail (d) Accept  
Directions: In Question nos. 174 to 176, choose the word opposite in meaning to the given word and mark it in the answer sheet. 
174. VACILLATION 
 (a) Inoculation (b) Relief 
 (c) Steadfastness (d) Remorse  
175. Placid  
 (a) dull           (b) Stormy  (c) Urgent (d) Moving  
176. Effeminacy 
 (a) manliness (b) borrishness 
 (c) Agressiveness (d) Attractivness  
Directions: In question nos 177 to 181, some parts of the sentences have errors and some are correct. Find out which part of a sentence has an error 
and blacken the circle corresponding to the appropriate correct option . If a sentence is free from error, blacken the circle corresponding to “No error” 
option in the answer sheet. 
177.A bird in the tree is worth two in the bush. 
 (a) No error (b) Two in the bush 
 (c) Is worth (d) A bird in the tree 
178.It is not advisable to take heavy luggages while on a journey  
 (a) while on a journey  (b) To take heavy luggages 
 (c) It is not advisable (d) No error 
179.Just outside my house are a playground for school boys and girls. 
 (a) For school boys and girls  (b) Are a playground  
 (c) No error         (d) Just outside my house 
180.He can be a basketball player since he is tall like a mule. 
 (a) No error   (b) He can be 
 (c) He is tall like a mule          (d) A basketball palyer since 
181.Who do you think I met? 
 (a) Who (b) I met? (c) No error (d) Do you think 
Directions : In question nos. 182 to 188, out of the four alternatives, choose the one which can be substituted for the given words/ sentences and 
indicate it by blackening the appropratie circle in the answer sheet. 
182.Of one‟s own free will. 
 (a) Obligatory (b) Mandatory  (c) Voluntary (d) Compulsory 
183.One who runs away from justice or the law. 
 (a) Fugitive (b) Thief  (c) Criminal (d) Smuggler 
184.One who is skillful. 
 (a) Disciplined (b) Different  (c) diligent (d) Dexterous  
185.One who is too careless to plan for the future. 
 (a) Impotent (b) Improvident  (c)Impractical (d) Imprudent  
186.A person who deserves all praise. 
 (a) Despicable (b) Detestable  (c) Laudable (d) Lovable 
187.One who has long experience. 
 (a) Expert (b) Novice  (c) Practitoner (d) Veteran 
188.A study of ancient things. 
 (a) Physiology (b) Archaeology  (c) Ethnology (d) Zoology 
Directions : In question nos. 189 to 190, four words are given in each question, out of which only one word is correctly spelt. Find the correctly spelt 
word and mark your answer in the Answer Sheet. 
189.(a) DIFFUSSION  
 (B) DEFFUSION 
 (C) DIFFUSION  
 (D) DEFUSION 
190.(A) Circummlocation  
 (b) circumlocution 
 (c) Circumllocation  
 (d) Circumlocation 
Directions: In question nos. 191 to 195, four alternatives are given for the idiom/ phrase underlined in the sentence. Choose the altnerative which best 
expresses the meaning of the idiom/ phrase and mark it in the Answer sheet. 
191.Unless you make amends for the loss, nobody is prepared to excuse you. 
 (a) Improve (b) Pay debt  (c) Confess (d) Compensate 
192.Instead of keeping his promise of helping me with office work he just left me high and dry. 
 (a) left me feeling like a fool. (b) left me in a state of anger. 
 (c) left me without a drop of water (d) left me alone to do the work 
193.Amit said to Rekha, “Don‟t make a mountain out of a molehill”. 
 (a) Attempt an impossible task 
 (b) Start looking for molehills in mountains  
 (c) Creat problems 



 (d) Exaggerate a minor problem  
194.Before the report reached the authority, the media spilled the beans. 
 (a) Dropped the charges (b) Hinted at the consequences 
 (c) Revealed the secret information 
 (d) Spilled the content of the package 
195.His friend turned out to be snake in the grass. 
 (a) Cowardly and brutal   (b) Low and mean 
 (c) A hidden enemy (d) An unreliable and deceitful person 
Direction : IN question nos. 196 to 200, you have a passage with 5 questions following . Read the passage carefully and choose the best answer to 
each question out of the four alternatives and mark it by blackening the appropriate circle in the Answer Sheet.  

Passage 
Journalist argue over functions of a newspaper. I feel that a provincial paper‟s purpose is not only to present and project the news objectively and 
imaginatively , but to help its readers to express themselves more effectively, canalizing their aspirations, making more articulate their demands. A 
newspaper should reflect the community it serves- warts and all. When the mirror is held to society it reveals neglect, injustice, ignorance or 
complacency. It should help to eradicate them. It would be pretentious to think that a  newspaper can change the course of world affairs-but  at the 
local limit it can exert influence, it can probe, it can help get things done. The individual‟s voice must not be stified. Instead, the readers should be 
encouraged to express their opinions, fears hopes and or their grievances on this platform. 
196.How can the readers air their grievances? 
 (a) By being complacent 
 (b) By supporting the local newspaper 
 (c) By writing to journalists 
 (d) By writing to their local newspaper 
197.What is the main purpose of a newspaper? 
 (a) Project news objectively and imaginatively 
 (b) To present facts in a blunt way 
 (c) Exert influence on the individuals 
 (d) Encourage the readers to be pretentious  
198.The expression “warts and all” in the passage means. 
 (a) Hopes and fears  
 (b) The reader‟s grievances 
 (c) With no attempts to conceal blemishes and inadequacies 
 (d) The community‟s problems  
199.How can a newspaper influence local affairs? 
 (a) By probing into the ills of society and rallying support for change 
 (b) By encouring the readers to accept their grievances 
 (c) By focusing on world affairs. 
 (d) By influencing public opinion through half truths.  
200.In this passage the writer highlights the fact that: 
 (a) A newspaper should reflect the community it serves 
 (b) A newspaper should only concentrate on local affairs 
 (c) Journalists differ in their opinion on the function of a newspaper 
 (d) Newspaper can eradicate injustice. 


